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Following the previous article, we discuss how to insist the inventive step as “the
feature of the invention”. The point is to find the “factor” that lies between your invention
and the cited invention (or the speculative invention composed of all cited documents).

For example, when plural structures (e.g. A and B) become clear through the
amendment, take A as the above “factor”. Then you can maintain, “the cited invention is
different from A and A is different from our invention. Therefore, the cited invention is
different from our invention.”

If you can find only one structure, C, through the amendment, you have two
options. 1) Take an abstract concept lying between the cited invention and your invention
as the above “factor”, say D. Insist “the cited invention is different from D and D is
different from our invention. Therefore, the cited invention is different from our
invention.”2) Identify plural effects, E and F, deduced from C and take one of them, e.g.
E, as the above “factor”. You can maintain, “our invention has the effect of E, which the
cited invention does not have, as well as the effect of F. Therefore, the cited invention is
different from our invention.”

When you do not make the amendment, you can take a structure, concept, or
effect as the above “factor”, which is different from the cited invention.

I hope I can gain wide experience to help our clients.



